2 1 [o 1 #&
15K 15K

NMIHAZA 477 | BR bhHAZA 477 | "R
1 74 x AL = 1 78288 = 232 =
2 //E x &/ = 2 E3,037 + &9 =
3 L6 x &84 = 3 23,504 + 974 =
4 Y4/2 x b6 = 4 /SOHI?E = L9 =
5 60 x 3346 = 5 30,636 + 8§85/ =
6 675 x 33 = 6 57,740 - 60 =
7 77 x 7/8 = 7 SYHYO0 + /9L =
8 49 x 39 = 8 7,562 + 3§ =
9 60 x L4 = 9 3,060 + /853 =
10 435 x 37 = 10 #2,/60 = 68 =
11 58 x 420 = 11 /ES4E + 408 =
12 458 x50 = 12 /85,640 + &85 =
13 LY x /34 = 13 3778 + L/ =
14 3/7 x &8 = 14 50,/33 - 5/ =
15 T4 x 477 = 15 X&6,677 + 7R/ =
16 430 x L0 = 16 &/, 740 = 4 =
17 56 x 5S4/ = 17 /X788 + 4/& =
18 07 x 58 = 18 0,682 - S¢ =
19 63 x &/ = 19 /3,556 + 433 =
20 /L2 x /5 = 20 R4.EX7 - ¢/ =
21 75 x 708 = 21 / R0/ 2 + 364 =
22 436 x /46 = 22 /6,270 - 70 =
23 S/ x R58 = 23 &/ 354 + &4 =
24 548 x Q3 = 24 /9,600 - 56 =
25 47 x 508 = 25 6,855/ + #03 =
26 QL7 x &3 = 26 X3.7385 +  Xé =
27 68 x 534 = 27 39,8885 + 554 =
280 7845 x 285 = 28 &£8,907 - 7/ =
29 L7 x HO4 = 29 3/.97% + 404 =
30 79/ x /& = 30 42,060 - 40 =




2 1[0 1 #%
11048

HFEDHAZA Ba

1 2 3 4 5
1 /N 6,9/ 0 798 &5/ 2 %4,/ 67
2 &/ 72 ) 2,683 L5 L 3,76
3 -/ 69 L2 E S 657 7,5/0 504
4 —/ .,/ RXE ?85Y -46053 65X &,008
5 L05 2,062 /70 58586 SEL
6 2,783 /.2 2,338 THLS 5,624
7 3,764 597 ~ 4,358 3./ 4/ P LY

6 7 8 9 10
1 R VAN §37 5. 345 704 759
2 L00 &40 337 78 §265
3 7,380 - 2.7 64 6,686 /37 5,858
4 Q.4 Y 7/3 545 ~6,4/ 8 639
5 257 ~X37 /AN —4Y0 PHYYE
6 7,053 EHYL LR LT 5,673 658
7 SéRL 6,368 757 $,5/ 5 /700

11 12 13 14 15
1 &3 5,554 EHYE 353 2,647
2 6,507 LE L L6 R/4 243
3 /37 5,040 —4ys /230 -3,/ X5
4 3,752 355 Y2/ 3 /,EO0R -944
5 685X 7,235 S0L §&7 7./ 76
6 320 /\RL7 — 6,47 243 606
7 /RYLE 309 2,775 &8/ / &85 4L
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B2E 1k
115 1fE5m

MFIHASA 47 | BR bbhHAZA 47 |BR
1 48 x 776 = 1 LE55/85 + 9485 =
2 (45 x &3 = 2 L6,/ 36 = J6 =
3 E/ x 4L3 = 3 S0,378 + 364 =
4 790 x 43 = 4 EL4EL = 78 =
5 57 x 307 = 5 /4060 + 380 =
6 /4L x 57 = 6 /) TE = 67 =
7 bl x 3L = 7 53,0/0 + &85 =
8 733 x 7R = 8 L7,608 - 5& =
9 78 x 474 = 9 §53786 + 773 =
10 &785 x 57 = 10 /0726 = bl =
11 /7 x b5 = 11 7456 + 87/ =
12 430 x 797 = 12 5,644 = /Y=
13 63 x 673 = 13 36.85/L + 464 =
14 755 x 2/ = 14 23473 = 4/ =
15 78 x §5¢6 = 15 X/5/4 + 674 =
16 #&/ x 58 = 16 LE0E + X4 =
17 LO x 7854 = 17 L4.L085 + L7 =
18 343 x X3 = 18 /&/3L = /8 =
19 4/ x 03 = 19 57,708 + 487 =
20 /43 x 467 = 20 /L5550 = A& =
21 67 x /&0 = 21 /RHES = /7 =
22 456 x  S4 = 22 LES/Y = 78 =
23 LE x 678 = 23 47,377 = 03 =
24 X4/ x50 = 24 /703 = 5/ =
25 /L x ELE = 25 /450 + 750 =
26 /77 x 67 = 26 37,576 = &8 =
27 b4 x 44 = 27 44044 + 7L =
28 553 x b4 = 28 3L/ 78 = 77 =
29 48 x S5/2 = 29 /85,/850 + 670 =
30 9846 x 75 = 30 &£0./87 = &7 =




2 2[d] 1 #%
11048

HFEDHAZA Ba

1 2 3 4 5
1 593 7,505 676 5783 2,333
2 Y546 245 TH3E 508 &,986
3 502 &,027 Y78 — 4,637 /03
4 5456 -673 $4o8 -6/0 /,03/
5 635 -8,770 5,592 3,582 758
6 &,5L2 5./ 76 3,204 &b Y5453
7 Y$4,5850 768 3,750 5,2/ 0 74L

6 7 8 9 10
1 7,206 /Y7 7. 34Y 6/ 0 755
2 L7353 2,786 &70 3,567 6,2/ /
3 /636 - 5,060 5,28 502 7,364
4 54/ Y, 58/ — 438 L7 7
5 600 ~R53 6,566 -2/ & /S HSE
6 6,/ /¥ &,062 5./78 LHRLE S5/
7 607 /,05/ 285U 5,578 &788

11 12 13 14 15
1 663 7.2/ & /YR £ES 7,726
2 3,869 727 240 YT -5é6
3 — 4,270 Y752 Y2/ 7,225 2./ /7
4 #3539 / 6L &557 %4,/ 76 L7 7
5 77/ RN /A 554 687 2,766
6 -928&0 /. 76/ /EER 204 235
7 6,27 6 LL7 6477 2,050 ~ /764
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5 3 [0 i
155 1fE5m

MFIHASA 47 | BR bbhHAZA 47 |BR
1 xa /53 = 1 6,555 + QRS =
2 636 /& = 2 5,022 + 3/ =
3 /& 356 = 3 46,550 + &85 =
4 733 7/ = 4 L/ 004 + &7 =
5 55 77/ = 5 LOIEY + 34 =
6 680 57 = 6 /0,500 - 60 =
7 7/ L0& = 7 5733 + //7 =
8 470 Ll = 8 57,308 - 73 =
9 65 426 = 9 /084 + L4 =
10 7274 78 = 10 X033 + &3 =
11 77 /67 = 11 /L0777 = 36/ =
12 57/ 40 = 12 /68306 + L7 =
13 /7 70 = 13 7,555 + &35 =
14 334 S/ = 14 38740 + 44 =
15 S 378 = 15 LLE80 + 80 =
16 4/6 /3 = 16 /3.0850 + X0 =
17 37 540 = 17 /7478 = /73 =
18 3/3 7L = 18 &&,740 = 70 =
19 54 578 = 19 36,700 + &0 =
20 X790 S/ = 20 8074 = /)=
21 5/ 758 = 21 /HERL + /56 =
22 &/7 L = 22 LR4LE + X4 =
23 &4 J05 = 23 L3./66 = L6 =
24 ELS /Y4 = 24 34,0068 = 78 =
25 &L LOL = 25 70,983 + 7/7 =
26 78/ 45 = 26 /0,374 = /L=
27 &4 /57 = 27 50,625 + 6745 =
28 46373 7L = 28 2,76/ + 43 =
29 // /EL = 29 3/.768 = 574 =
30 LLL 78 = 30 #43.,7/L4 + &&=




25 3[0] 1 #%
11048

HFEDHAZA Ba

1 2 3 4 5
1 37/ 5,728 632 2,377 &,20/
2 7.2/ 2,79/ 2,755 /&9 7,652
3 ? 2R $£/0 S4Y ~ 2,626 Y75
4 $4,//7 $4s5/ EES LS $,599
5 /&L 7,375 645/ 2,37/ L4 Y
6 4,097 - 2.7 7Y & LYY 4/ / 2,503
7 6,7 64 ~285E 3,25/ /. R/ 6 2/0

6 7 8 9 10
1 4,079 597 5./08 70/ 2/ 7
2 /S SY 2./85 / /0 SHU LY 2,/83
3 3,335 54/ 6,803 775 -85,377
4 - 5,304 777 L7 7 Q477 586
5 Y&y /s /527 S45 2,/ 85
6 5,0/3 $£,06/ 3.2/ / 7./ 68 ~ Q40
7 -R247 2,022 248 5,233 2,072

11 12 13 14 15
1 XA 2,030 &.270 594 YT
2 7./8% 786 $,5 2,0/ / /7Y
3 6,970 EHLIE -777 /YT E &575
4 7,/ X8 723 - 6,2/ & &.7/5 247
5 / 0/ &£3/5 L55 ?/0 -85,/ /4
6 775 6,757 #,330 777 —6LE
7 538 YRS &643 2,05/ 2.5/5
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£ 4 [ i
155 1fE5m

MFIHASA 47 | BR bbhHAZA 47 |BR
1 7L &7/ = 1 43,064 + 769 =
2 <70 45 = 2 /4706 - 57 =
3 3L b8 = 3 L3704 + 49& =
4 £77 &/ = 4 VAR 4 =
5 b /&6 = 5 L/ 350 + &/0 =
6 £77 /6 = 6 42,/20 + 4§ =
7 5é 385 = 7 /27 = 76/ =
8 VAN /Y = 8 65,333 = 77 =
9 70 774 = 9 /) HEO + LET =
10 743 /3 = 10 36787 = 77 =
11 55 LY4L = 11 /5,648 + 487 =
12 56 §4 = 12 /3,520 + &0 =
13 70 L70 = 13 ELOL + 478 =
14 4/6 66 = 14 //.75L = /6 =
15 S /03 = 15 63,477 = &0/ =
16 477 §4 = 16 X/.5/3 + 33 =
17 /& 634 = 17 L7,588 + 567 =
18 &#4¢6 63 = 18 /7.65/L = 5L =
19 33 574 = 19 W0.L/6 + 36/ =
20 &892 /3 = 20 446646 = 446 =
21 5L 7/3 = 21 4,060 + 70 =
22 §/L 37 = 22 /70854 = 37 =
23 &8 674 = 23 /3,050 + #50 =
24 LS 6L = 24 36,6854 = 63 =
25 &/ 45/ = 25 /4 /L = L5L =
26 X745 6L = 26 546856 = 74 =
27 &7 758 = 27 7864 + §/7 =
28 4L/ /7 = 28 37,078 = 75 =
29 &4 /40 = 29 L7660 = 677 =
30 7446 5/ = 30 &/.870 = 75 =




2 4[] 1 #%
11048

HFEDHAZA Ba

1 2 3 4 5
1 L4LE/ 6,374 70% /)77 7,373
2 -/08 $s57y 7.9/ % 25/ ~ 48525
3 / &/ /566 6797 /587 S/7
4 $y779 Y353 L7353 $456 2,603
5 /YT /735 6,280 D645 -92/9
6 -8,/0/ 3./ &8 $786 608 278
7 37/ L57 /530 2,75/ 6,574

6 7 8 9 10
1 7,.5/8 &/ 2 2,676 Va4 Y2RS5
2 $yg &,256 LE S /755 7,6/ 5
3 &44 4 Yoy L./ /L /78 LHYE O
4 2,657 — 4678 385/ 5,350 -500
5 256 -2350 7,750 yyy L7 5
6 2,0/3 3.5 4L 4,509 & 742 -8,725
7 72759, 5477 228 Y4785 7,508

11 12 13 14 15
1 5668 6,/50 3,732 ?5Y Y45
2 &,6858 /23 Y405 2,203 720
3 /274 - 543/ ) 2435 ~ &4/
4 6,/59 2,632 7,055 /757 Y73
5 S4Y - 574 765 SéL 3L/ 7
6 §EL 7,20/ 2,309 7o/ ~ 4,753/
7 &/73 &8/ 6,753 3./ /7 &.967
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BE5ME 1k
115 1fE5m

MFIHASA 47 | BR bbhHAZA 47 |BR
1 5é x 427 = 1 77,2850 + 79/ =
2 567 x 4653 = 2 SL,LES = 77 =
3 58 x 777 = 3 L3,/ 857 =+ TH47 =
4 378 x40 = 4 L7, 7 7L = §4 =
5 66 x 797/ = 5 /0,556 + 203 =
6 /37 x99 = 6 L5776 = Jé =
7 /7 x 734 = 7 YRIAYYEL + 7/6 =
8 /58 x99 = 8 LE,I3Y = 77 =
9 68 x §6&6 = 9 £8,8/0 = 78683 =
10 #/45 x 7/ = 10 /&6.L/8 = /7 =
11 §3 x /08 = 11 /6 H4RL + 37/ =
12 /466 x /3 = 12 33,076 = 5¢6 =
13 S x 747 = 13 6,525 + ALS =
14 X796 x /5 = 14 37,6566 = bl =
15 /7 x 750 = 15 §/78 = /74 =
16 X5é x  3& = 16 /6,568 - 76 =
17 45 x 776 = 17 /3,500 + L70 =
18 &05 x 78 = 18 5,085 = /S5 =
19 7/ x /70 = 19 /7.0/3 + 3L/ =
20 /046 x 37 = 20 &/.700 = 56 =
21 67 x 307 = 21 45,676 + 60/ =
22§75 x 33 = 22 3/.774 = bl =
23 &7 x /44 = 23 L2E73 + L4633 =
24 7/46 x 58 = 24 /0,674 = A3 =
25 4 x 74/ = 25 33,640 + &4/ =
26 594 x 79 = 26 7.3/ = /3 =
27 66 x &6/7 = 27 77./73 + 753 =
28 /59 x 76 = 28 /0.5/4 = 74 =
29 75 x 7L = 29 L3RS + 4785 =
30 557 x 725 = 30 47,764 = §4 =




2 5[] 1k
1105

HEDHBALEA B

1 2 3 4 5
1 357 6,798 979 5.7/6 2,207
2 §,.085 /24 54329 553 3,793
3 $&5  ~/2/8 399 &84 /38
4 &.6/8 ~ 4462 30 /63 2,54/
5 202 & 272 6,/ 69 3,929  —7,639
6 9,603 3,22/ /707 6/ ~/8/
7 &,.50/ /78 8744 7,390 557

6 7 8 9 10
1 6,940 7, Y b)Y b4 s 633
2 4690 2,067 75y 2,635 7,032
3 7,682 6,624 ~ 403 /98 3,93/
4 ~5/2 /38 503 2,662 353
5 248 552 5,30/ 528 2,740
6 3,939 5,9/0 9,948 $4,09% 379
7 =7,058 /996  —b.4// 6,674 3,54/

11 12 13 14 15
1 627 6,6/ 8 2,974 724 &,/ 07
2 6432 Y&s 7964 2,280 4§80
3 877/ 6,347 220 5,248 ) &8EY
4 /U3 56/ 7,338 ~/93 794
5 ~ 233 )33/ Y42 4739 2,059
6 759 3.855% 5424 327 8%
7 5,627 403 473 /222 7,362

op
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5 6 [0 i
155 1fE5m

MFIHASA 47 | BR bbhHAZA 47 |BR
1 7L 47/ = 1 33,976 + S48 =
2 77 /Y = 2 /4RO = 74 =
3 /7 5688 = 3 SR40 + L/ 6 =
4 77 bl = 4 &/408 = 76 =
5 3é 350 = 5 48,/02 + L3 =
6 73/ 50 = 6 /2,576 = 76 =
7 &4 757 = 7 37,5853 + 637 =
8 747 77 = 8 42,070 - 67 =
9 73 437 = 9 7,045 + 335 =
10 X336 5& = 10 386467 = 77 =
11 &0 &4 = 11 /0740 + 358 =
12 /3/ 68 = 12 7,460 = 76 =
13 54 7L = 13 L5,/60 + 340 =
14§20 47 = 14 30474 = 77 =
15 L0 00 = 15 8§45 + 48585 =
16 707 L7 = 16 L7984 + 44 =
17 75 J63 = 17 /5,6/0 + 446 =
18  &6¢& §4 = 18 /736 = 77 =
19 S# §0& = 19 7,606 + 3L/ =
20 474 S¢ = 20 4440 - 56 =
21 73 S5LS5 = 21 47,600 + 578 =
22 577 L = 22 LELE0 = 30 =
23 5L 547 = 23 4/7R4 = 734 =
24 308 §L = 24 4/, 328 = 4E =
25 50 §30 = 25 /74485 + 84 =
26 36/ L5 = 26 2,750 + 30 =
27 /L §75 = 271 30,770 = 36 =
28 &7/ 76 = 28 S5 434 + &7 =
29 42 &/7 = 29 7/ /4 - 76/ =
30 X&& /L = 30 L&,760 = 30 =




25 6/[0] 1 #%
11048

HFEDHAZA Ba

1 2 3 4 5
1 &75 7,/ 73 SUR 2406 2. Y47
2 7./88 /57 &7/ 2UY ?HYIY
3 27/ 7,730 ~/ /Y Y4399 358
4 -7,557 357 260 Y&y 6,070
5 5,20/ 6,755 743 L 5,926 &5
6 Y677 2,573 XY 7?73 &,730
7 —475 786 ~ 7,232 7./ 23 737

6 7 8 9 10
1 6,635 /&S 2,24/ 590 230
2 $37 3.3/ 6 47 5,8 2L 7.858Y%
3 6,475 ~/779 5,598 567 3,364
4 6,2/ 8 SLE 6864 &8585/ L5 6
5 L7 L ~5X7 6,755 275 5,628
6 2,506 3,55 5,08/ 7,76/ 524
7 &70 EH4E0 700 2.6/ 4 ~ 4,088

11 12 13 14 15
1 /7?9 £,603 6,34/ S&0 &998
2 5.6/ 4 506 yyy &,637 -3/5
3 2,553 2,577 -9/ 6,303 SR/Vaes
4 6,742 676 YU35 6463 3723
5 &75 7409 7853 358 - 5,578
6 L7/ &,/ X8 -5,/ 8L L7 6 5§34
7 Y,202 $£0o0 5,958 3.6/ 5 3,687
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7|

GigEE
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£ 7 [ i
155 1fE5m

MFIHASA 47 | BR bbhHAZA 47 |BR
1 /L 775 = 1 38,774 + 40L =
2 743 &/ = 2 L8,050 = 66 =
3 38 553 = 3 /HRES + ST =
4 660 4L = 4 SEH4IL + 44 =
5 60 §05 = 5 772,04 + 98 =
6 778 56 = 6 7./08 = /S5 =
7 42 S48 = 7 L7./8ES + 533 =
8 (76 S0 = 8 LOE74 + 4L =
9 7/ 75/ = 9 Y1444 = 777 =
10 X// L6 = 10 #4544 = 4 =
11 53 /L8 = 11 5/.074 + 7/ =
12 43/ L5 = 12 /88576 + L4 =
13 /3 S48 = 13 8/7% + 774 =
14 L56 73 = 14 4,/85 « 3/ =
15 &/ EL4 = 15 48,/80 + 76 =
16 773 77 = 16 44,726 = 77 =
17 4/ §07 = 17 0,328 + L4 =
18 475 67 = 18 35,406 = 54 =
19 44 676 = 19 X&E060 + 460 =
20 //& 70 = 20 35678 - 75 =
21 S0 745 = 21 L8704 + 472 =
22 /74 54 = 22 S/ 64 = &/ =
23 &7 745 = 23 37.88/ = 64/ =
24 430 5/ = 24 X/,000 + &4 =
25 60 747 = 25 L3064 = 374 =
26 46 /6 = 26 L4674 = 465 =
27 LY 6/ 8 = 27 7,034 + 586 =
28 744 57 = 28 37,530 = 67 =
29 40 L4 = 29 L9744 + LX7 =
30 77 /L = 30 /7440 + L7 =




2 700 1k
1105

HEDHBALEA B

1 2 3 4 5
1 57/ 2,369 6/ 7 .80/ Y430
2 .27 6 4695 &.89Y ~932 Y308
3 S4¢& /896 422 /238 §94
4 6,053 243 397 /5 —/.68%
5 205 6,975 6,848  —8.508 40/
6 2,649 7,907 /097 /57 2,882
7 6,962 E38 2,27/ &8/ 5 -390

6 7 8 9 10
1 /87 4.3/ / 7,238 97U 75/
2 583 635 734 7,564 2.8/ %
3 Y527  -3,98% 5,972 /29 2,904
4 5,269 ~ 557 P54 -8/ Y435
5 70 SOY 6,984 -/ 8/ 8548
6 2,504 7,4/ 0 5,980 2,674 350
7 2064 2,874 728 7,390 2,259

11 12 13 14 15
1 232 3.7/ / 7,362 Y409 5,/33
2 2.7 74 Y453 39/ 7402 553
3 2,259 Y453 3% ~49/ 3./ 48
4 3,22/ 2,647 5,264 Y607 294
5 Y62 4,94/ 6/ /  =7.637 /42T
6 529 5,648 &278 yys 592
7 9,2/ 2 -4/ 2.0/ 7 §,906 9,28

op
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g8ME 11k
15K 15K

NMIHAZA 477 | BR bhHAZA 477 | "R
1 72/ x &// = 1 30,039 + 969 =
2 LY x 53 = 2 /8662 3/ =
3 /Y x 777 = 3 7,52/ + /09 =
4 669 x99 = 4 72,70 = 75 =
5 //ox /3R = 5 52,076 = 704 =
6 774 x 28 = 6 S4L70 + &/ =
7 S35 x ALé = 7 S3,R55 + 739 =
8 202 x 346 = 8 38,766 = 78 =
9 /Y x LET = 9 /2360 + 4/2 =
10 307 x 50 = 10 X&E98/ = 73 =
11 T4 x 758 = 11 3/.5/8 + &/8 =
12 &3 x 745 = 12 346,378 + &6 =
13 S7 x 506 = 13 &4.038 + &/ =
14 4577 x40 = 14 3,507 - 57 =
15 L8 x 6085 = 15 XEHLIE + 4852 =
16 &856 x 3/ = 16 #4354 = 6 =
17 50 x 446/ = 17 /7,985 + 37 =
18 454 x &0 = 18 /3464 = 48 =
19 60 x /460 = 19 42790 + 778 =
20 44/ x 98 = 20 4,050 - /& =
21 4 x 3465 = 21 8030 + /#6 =
22 7885 xS = 22 4,/ L0 - L0 =
23 4/ x 3/4 = 23 7786 + QL7 =
24 R/7 x /& = 24 42,660 + 45 =
25 S4 x /79 = 25 546,768 + §87 =
26 S4& x4/ = 26 4L/ H4T = 53 =
27 72 x 702 = 27 734585 + V4L =
280 7/45 x 92 = 28 /3,6/46 + X3 =
29 55 x S42 = 29  RO352Z + S48 =
30 2446 x 7/ = 30 2,804 + 38 =




25 8[o] 1 %
1102

HEDHILS A /&

1 2 3 4 5
1 4,799 5,544 S76 5,755 7,03L
2 S40 7/5 VAR VAN 35S /773
3 586 L, 7 LY /Y44 &L/ L -&507
4 —/4E7 SLY S/ 7 75/ 7,8 Y
5 —YOY 2,660 §,5L3 5,0/ 7/ 576
6 4,933 5,562 &85/ / 678 ~ 2,52
7 2,08/ S653 Ll S E 25 EL 7L7

6 7 8 9 10
1 4$2.35/7 S/ / §,65855 6,653 LS5 Y
2 676 EHLES L7 7 736 6,568
3 5537 7,63L 6,058 -5/5 LS Y
4 L, ULS Y79 490 6,580 — 5,647
5 5§65 L7 0 7,70 — 6,754 —3L/
6 2,09/ 5,/07 5,//8 Y437 Y$4559
7 Y2/ 72,650 S5/ 4,336 /LT

11 12 13 14 15
1 S77 2,5/ 7 2,608 / 7/ 5,586
2 5778 253 —5LL 2,37/ g/ Y
3 /7858 LS4/ 775 6,038 7,776
4 — 7450 /75 &,002 /088 657
5 EL7 2573 /4 SL7 2,734
6 -530 7,378 -5,/ 44 03 §53
7 VNI 766 2./ 7L 6,567 5444

op
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SEE100R M £




1k BER

NMIHAEA bOhHAEA HEDBHILE A MNIHASA bOHASA HEDBHILE R

1 L/,068 16 /L6001 4 16 7351 L/ 470 1 6,732 16 5408 |1 <3 16 ES54 |1 LYE,56EL

2 7,558 17 S0,L76| 2 733 17 S/ 12 RLL3EL 2 /)GEE 1T L/,060| 2 /éL 1T 6612 6,7/ 6

3 L7854 18 /L0066 | 3 76 18 J&3| 3 7778 3 6,408 18 LL2,536 | 3 6618 7663 30745

4 L7,/ 7L 19 S4L4S | 4 Jé62 19 S|4 6,70 4 §4.703 19 50,43L | 4 L3619 4514 /0344

5 L0,/ 60 20 /7355 Jé 20 40715 L3335 5 54,505 20 §770|5 5é 20 7345 85,5654

6 Lo, L7 5 21 67,260 6 777 21 S3| 6 XLO4L/ 6 57,/60 21 4586586 /78 21 7716 7477
w7 £7,646 22 7,008 | 7 75 22 /SESNT SELTT | s T /4768 22 50,6547 4y 22 /77T RETS/
118 <L5,5// 23 7,778 8 /77 23 7/18  X4370 318 /0,340 23 /7,520 | 8 785 23 /18 /&E704
@9 47440 24 /2,604 | 9 L0 24 S850|19 /4SS B9 L7,670 24 /5L |9 4/ 24 43619 L3.345
10 /6,075 25 <L3,876 10 6L0 25 /7110 X7.497 10 77.6/0 25 /6,564 (10 L5/ 25 77110 /3,346

11 L4360 26 /7,007 11 S/ 26 7/3(11 /44672 11 /6,535 26 g4,/ 45|11 57 26 66|11 3/,663

12 32,700 27 36,3/2(12 /&4 27 72112 ZX,00Z 12 L3640 27 /0,048 |12 678 27 7512 X7,537

13 S22/ 6 28 7457513 /& 28 777113 /6,867 13 /85,640 28 45,576 |13 S35 28 L7 |13 /49/8

14 L/,556 29 /0,708 |14 753 29 77114 /E477 14 /0476 29 L,002 |14 &85 29 S#4114 L3733

15 35,478 30 /L,656 |15 37 30 70/ 115 3./ 43 15 /L,855L 30 L/, 756115 <6 30 497115 /2,740

1 38,208 16 L7,678 |1 <7 16 /770 L85,/ 04 1 §0,/32 16 40,436 |1 56 16 66/ |1 /502

2 53,538 17 /5,080 2 746 17 712 /3L78 2 /3,050 17 7.5/0| 2 L5817 S22 /4530

3 S#,L63 18 7,6587 | 3 &3 18 E741 3 RLL4E 3 L0076 18 40,676 | 3 48 18 38/ 13  LLEELET

4 33,770 19 JFL,7L3 | 4 6586 19 414 /0,678 4 “/.4/77 19 /ET4L| 4 LS4 19 S56|4 /857

5 /& /73 20 7,58/ |5 57 20 S50L |5 L5476 5 /7,534 20 / /087 |5 S35 20 77/15 /3.03/

6 &378 21 /2H4L0 | 6 /6L 2T 73|16  LLIT7 6 /) EY 2] 5846466 736 21 /Y6 XIH4ES
w7 5/,584 22 LLTIL| T b 22 SES| T /3E5S| =T L/,560 22 SO044 |7 /& 22 4387 /3,765
218 52,77¢6 23 /8784 |8 47¢6 23 5718 X&8505| [4]8 <,002 23 0,876 | 8 L7 23 L7018 X876/
@9 46,256 24 /2,050 |9 &6 24 <53 9 &/56| |E9 S54,/80 24 /37509 40 24 (/419  RX/.375
10 47,875 25 7,736 (10 /73 25 /7110  X5./8/ 10 /.57 25 36,53/ |10 47/ 25 56 (10 7,075

11 /2,358 26 / /8857 11 /& 26 4271 /0,708 11 /3.3/0 26 /EL70 (11 SL 26 73711 X7458

12 33,770 27 47,2/ 612 g703 27 /112 /8,085 12 L/.504 27 $46,/02|12 /&7 27 76112 /8,685

13 42,377 28 36,476 |13 &3 28 SXS5|13 /2,978 13 L0300 28 7.,/57 (13 57 28 S5/ (13 X/, 744

14 L0055 29 L4576 |14 573 29 LL| 14 XEI77 14 L7456 29 §.760 |14 747 29 4014 L5668

15 66,766 30 73,670 |15 S/ 30 70/ 115 X&,/73 15 3,50+ 30 47,266 (15 79 30 §62|15 /277X




1k BER

NMIHAEA bOhHAEA HEDBHILE A MNIHASA bOHASA HEDBHILE R

1 L40L4 16 7.8/ 6|1 &0 16 L/ & |1 38,73/ 1 / /700 16 76,527 |1 77 16 E74 |1 LE,LEL

2 38847 17 38,8540 | 2 677 17 s0\2 /&7/8 2 45,323 17 33,/67 |2 425 17 S4l2 20923

3 56,6646 18 62,770 | 3 S/ 18 5373 L4357 3 L/,0/4% 18 S#./55] 3 L7 18 6523 RET44

4 /5,/20 19 /5470 4 J33 19 5314 L7./97X 4 L7,720 19 30,624 | 4 774 19 &/ |4 /456

5 65,406 20 3,7LL | 5 52 20 75015 /676 5 48,5300 20 /O440| 5 &8 20 37715  /O.854L

6 /3,563 21 L/, /E3| 6 776 21 7616  //.7L7 6 68,648 21 L8350 6 607 21 5716 /7,576
w7 /3,746 22 L7634 T 57 22 S/6 T  LLEL7| |s|7 /470 22 73767 5/ 22 CL4\ 7T /EETY
5(8 /5,642 23 7,648 | 8 S#L 23 /78 SHILE 718 L0,8580 23 48,5751 8 477 23 /18 X797
@9 568,688 24 47,528 |9 70 24 g4l 9 /7439 |E|9 56,54/ 24 <L/, 7309 52 24 L5019 /0334
10 37,765 25 L. L4410 754 25 40110 R3,6L9 10 54686 25 56,740 110 676 25 6L |10  /&8,/ 6L

11 &.764 26 46,7668 |11 42 26 7/7111 /2,672 11 6784 26 3,736 (11 56 26 S/4111 /8,689

12 L/ 84 27 40,854 112 57/ 27 s/112 /2,580 12 /0,778 27 /4760 (12 77427 /|12 7,230

13 38,7485 28 /526413 <7 28 /4EN13 RE,72867 13 7./ L4 28 42,408 |13 &7 28 57013 3/,855&

14 L4440 29 68,570 |14 643 29 47 (14 4,87/ 14 /&E,6858 29 /0,560 |14 /385 29 LL| 14 /3,644

15 /L,750 30 52,7/5 |15 47 30 57/ (15  2/,672 15 33,784 30 /4S5 55 30 72015 Q04385

1 J35,385L 16 L6,36/ |1 6L 16 636 |1 /0,600 1 73,850/ 16 L7466 |1 S/ 16 6641 /LELE

2 /2306 17 L7, LLE5 | 2 /7L 17 S8 2  R4,078 2 //ET7L 1T L8050 2 0L 17 5512 /&/7L

3 /7L 18 74,7/L| 3 /5 18 /é853 /6,577 3 /3,706 18 36,320 | 3 67 18 /7813 RXTTY

4 S4.374 19 L74T7L| 4 05 19 §6| 4  LLLEY 4 66,23/ 19 7,600 | 4 776 19 5514 L3572

5 /L,600 20 /6,776 5 74 20 &/515 35,537 5 /45L 20 45,/78|5 74 20 LLE |5 /8565

6 T4LH4EO 2] 38,545 | 6 /37 21 016 L3373 6 75,852 21 30,660 | 6 670 21 5516 L6857
w7 £/,.376 22 37./38| 7 57 22 LT /IH4ES| || 7 7.7/0 22 40,EL0 |7 45 22 LO&| 7 3/.936
618 57,673 23 L8548 | 8 /0 23 5718 L7.60& 818 SL47L 23 /LET7H4| 8 477 23 S48 X&ET/0
@9 3/, 70/ 24 <L5,0/0] 9 L7 24 s6/19 2r&so| |H|9 4,0/8 24 SHT7L| 9 S0 24 74819 //.378
10 /3,804 25 #/,500110 477 25 LL|10  /4,50L 10 /85,350 25 /0746110 377 25 64110 7./ 74

11 68,340 26 7,525 11 S0 26 SRS L7476 11 56,074 26 S34LE |11 5/ 26 §33 |11 5.853%

12 &.708 27 /0740 (12 388 27 75112 X&,60/ 12 £6,775 27 50,544 112 423 27 77112  /EE43

13 38,7688 28 6/,636 |13 74 28 75|13 //.8&/ 13 /E.7LAL 28 65,780 |13 78 28 S57L(13 /4,756

14 38,540 29 SELI /4|14 J0¢6 29 74114 28,034 14 L3080 29 46,53/0 114 585/ 29 L4 LL3E7

15 6,000 30 3,076 |15 /7 30 79X\  //./ /7 15 /6,740 30 67,/ 66|15 57 30 LE5E |15 30,654




